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ction A:
Quastions 1 to 3 carry 1 mark sach. For each question, four options are given. One of
them is the correct answer. Choosa the correct answer and write its number in the
brackets provided. {3 marks})

3 6
1. Find the valua of ~ x— .

479
1
‘E)E
1
2}2‘
1
3)1—3'
9
9 5 { )

2. Andrew drew a house using drcles, triangles and rectangtes. What is the ratio of the

number of circles to the number of triangies to e jotal number of circles, triangles
and rectangles?

—
O O

1 1:1:3
2y 1:4:7
3 2:2:3
49 2:2:7 ( )
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3.

In the figure below, the length of the rectangle 18 cm and its heightis 8 cm,
The iength of AD s 10 ¢m and CD = DE. Find the area of the shaded iriangle.

N
2)
3)
4

A 16 om B

24 cm?*
30 om?
40 e
48 cm?

BP-~134



Section B:

Questions 4 to 6 cary 2 marks each. Show your mathematical statements cleardy in the
space provided for each question. Write your answers in the spacas provided. Give your
answers fo the units stated and to its simplest form whenever necessary. {6 marks)

4. Therectangle below is made up of 8 idenfical squares.

Tha height of the reclangle rs% m. Find the area of the rectangle.

Give your answer as a fraction in its simplest form.

Ans: m2

5. There are some apples in a box, For every 5 good apples, there are 2 rotten ones,
There are 55 good apples in the box. Find the total number of apples in the box.
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6. The square below is made up of 8 identical rectangles and B identical shaded
tiangtes, Find the total area of the shaded friangles.

Ans: cm?

-~ End of Paper 1 «
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Section C;

For quastions 7 to 12, show your mathematical statements clearly in the space provided
for each question. White your answers in the spaces provided. Give your answers o the
units siated and fo its simplest form whenever necessary. {21 marks)

3
7. A box contained some potatoss. After Mr Tan used 25 kg of potatoes and added

2
in another 3 kg, there ware 5 kg of potatoas left in the box, What was the mass of
the potatnes in the box at first?

Ans: kg [2]
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8.  Apieoe of ribbon was cut into three pieces intheratin 3:4: 7.
The longest piece is 112 cm longer than the shorest piece. Find the original length
of the piece of ribbon. Give your answer in centimetres.

Ans: i3]
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. Two big triangles BFG and DFG are drawn in rectangle AEFG as shown below.
The total area of triangle BCG and triangle CDF is 127.6 cm®,
Find the area of triangle CFG.

44 cm

Ans: . [3]




10.

Adele had 3 identical boxes, Box A, Box B and Box C. Box A was contained 65
cubes. The ratio of the number of cubes In Box A to the number of cubes in Box B
was 5: 3.

{a) Find the number of cubes in Box B.

{b) AferAdele took some cubes cut of Box A, the ratio of the number of cubes
in Box A to the number of cubes in Box C became 5 : 6. The number of
cubes in Box C was more than 50 and less than 60. How many cusbes were
left in Box A in the end?

Ans: {a) 2]

(b) [21
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1.

The figure below is made up of a big square and 2 small identical squares.
The side of the big square is 20 ¢m and the side of the small square is 14 cm.
BCD is a straight line.

{a}  Find the area of triangle ACD.

(d)  Find the area of triangle ABC.

8
14 cm
A T 20em D
Ans: {3)
(b}

[2}
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12,

Anan and Jia Qi had the same amount of money at first. After Anan spent% of his

7 .
moneay and Jia Qi spentg of her money, Anan had $300 more than Jia Qi.
(a)  How much money did Anan have left?
2 i
() Anangaveg of the money he had left to his mother and 3 of tha remainder

to his father. How much money did Anan give to his father?

Ans; {a) i3]

{b) [2]

- End of Paper 2 -
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PAPER 1 (SECTION A)

Q4

Length of rectangle = 2 x %—

mll\:

Qb5

55+5=11
M x2=22
22+55=77

Q6

16+2=8
8x 16 = 128cm2

PAPER 2

Q7

Q8

14u = 28 x 14 =392 ¢m

Qs

Area of 1 shaded A =127.6+2=63.8

,AreaofADFG 05x22x14-154 Area of ABFG

154 - 63.8 = 40. ihzm2

Q10a

du = 65
=13

3u=3x13=39 .
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Q10b

54+6=9
9x5=45

Q11a

14 x 14 = 196
196 +2 =98

05 x (20 + 14)x 14 = 238

238 + 98 = 336 cm?

Q11b

0.5 x 20 x 48 = 480
480 - 336 = 144 cm?

Q12a

Z2ux3=6u
6u-1u=5u

5u = $300
1u = $60

6u = $60 x 6 = $360

Q12b

$360 +5=9$72
5-2=3

$72x3=%$216
$216 + 3 = $72

Pg 2
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